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QUESTION 1

Which of the following DB2 data types can be used to store 1000 MB of single-byte character data?
A. BLOB

B. CLOB

C. DBCLOB

D. GRAPHIC

Correct Answer: B

QUESTION 2
The following SQL statements were executed in sequence:
CREATE DISTINCT TYPE salary AS decimal(7,2) WITH COMPARISONS; CREATE TABLE staffsalary(empid INT,

empsalary salary); INSERT INTO staffsalary VALUES (10, 50000), (20, 50000.00); UPDATE staffsalary SET empsalary
= 60000 What is the current content of the staffsalary table?

A. ID | EMPSALARY ----cnnemmemmeees 10 | 60000 20 | 50000.00 -------x--x--x-

B. ID | EMPSALARY ----cmcmmemmemnas 10 | 50000.00 20 | 50000.00 --------<-nc--x-
C. ID | EMPSALARY -----cmmemmennes 10 | 60000.00 20 | 60000.00 ----------x--=-
D. ID | EMPSALARY -----nnenmemmeeee 10 | 60000.00 20 | 50000.00 ------x--x--x-

Correct Answer: C

QUESTION 3

Given the requirements to store customer names, billing addresses, and telephone numbers, which of the following
would be the best way to define the telephone number column for a table if all customers were located in the same
country?

A. PHONE CHAR(15)

B. PHONE VARCHAR(15)

C. PHONE LONG VARCHAR

D. PHONE CLOB(1K)

Correct Answer: A
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QUESTION 4

Given the following CREATE TABLE statement:
CREATE TABLE customer(custid INTEGER, info XML)
And the following INSERT statements:

INSERT INTO customer VALUES (1000,

\\' John Doe

25 East Creek Drive
Raleigh
North Carolina

27603

919-555-1212

john.doe@abc.com

W);

INSERT INTO customer VALUES (1000,

\\' Paul Smith

412 Stewart Drive
Toronto
Ontario

M8X-3T6

919-555-4444

psmith@xyz.com

W);

What is the result of the following XQuery expression?

XQUERY declare default element namespace "http://custrecord.dat"; for $info in db2-fn:xmlcolumn
(WCUSTOMER.INFO\W)/customerinfo where $info/addr/state-prov="Ontario" return $info/name/text();
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A. Paul Smith
B. Paul Smith
C. Paul Smith
D. Paul Smith

Correct Answer:

QUESTION 5

If the following SQL statements are executed in the order shown:

CREATE TABLE orders (order_num INTEGER NOT NULL, buyer_name VARCHAR(35), amount NUMERIC(5,2));
CREATE UNIQUE INDEX idx_orderno ON orders (order_num);

Which of the following describes the resulting behavior?

A. Every ORDER_NUM value entered must be unique; whenever the ORDERS table is queried rows should be
displayed in order of increasing ORDER_NUM values

B. Every ORDER_NUM value entered must be unique; whenever the ORDERS table is queried rows will be displayed in
no particular order

C. Duplicate ORDER_NUM values are allowed; no other index can be created for the ORDERS table that reference the
ORDER_NUM column

D. Every ORDER_NUM value entered must be unique; no other index can be created for the ORDERS table that
reference the ORDER_NUM column

Correct Answer: A

C2090-730 VCE Dumps C2090-730 Practice Test C2090-730 Braindumps

C2090-730 VCE Dumps | C2090-730 Practice Test | C2090-730 Braindumps 4/4


https://www.pass4itsure.com/c2090-730.html
https://www.pass4itsure.com/c2090-730.html
https://www.pass4itsure.com/c2090-730.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2090-730.html
https://www.pass4itsure.com/c2090-730.html
https://www.pass4itsure.com/c2090-730.html

